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Q23) (a) (i) Non-living things (ii) Living things

Q10 

3 

02() 

1 

(b) (b) Rose plant can move part of itself on its own but the book cannot
move at all, so rose plant is a living thing, grouped in Group B

024) 
(a) X and Y have stems and leaves
(b) X has flowers but Y does not

025) 
(a) it had warmth and water
(b) The mould get its own food from the bun that it is growing on

026) 
(a) Animal J : amphibian Animal L : mammal 
(b) J breathe through its moist skin but L does not
(c) Outer covering : hard outer-covering

Function of this outer covering : protect its body parts

027) 
(a) (i) break food into smaller and simpler substances

(ii) it absorbs digested food into the blood

(b) (i) B (ii) E absorbs water from undigested food
(c) (i) small intestine (ii) digestion cannot be completed
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Q28) 

Q29) 

Q30) 

Q31) 

(a) 

(a) able to float or sink
(b) (i) A.

(ii) A is more suitable because it floats on water so that Gavin will
stay afloat while swimming

(a) Strength
(b) (i) Bag C:

(ii) Bag C is able to hold the most number of metal balls before it
tears so it is·the strongest and J9ly11 can carry the most number of
items with the bag without tearing.
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(b) (i) change the copper bar into an iron bar
(ii) Copper bar is made of a non-magnetic material. So even if it is
stroked many times, it would not be magnetised. Iron bar is a magnetic
material and thus changing it to iron bar will ca.use it to be magnetised.

(a) 7
(b) (i) Container A: Plastic chips

Reason : The plastic chips are non-magnetic and will not be attracted
ti the magnet. Thus it will drop into Container A. 

(ii) Container B : Steel scraps
Reason : The steel scraps are magnetic and will be attracted to the 

magnet and will stay attracted to the magnet until the magnet 
cannot be attracted to it and will drop into Container B. 
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